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Could string theory  be the answer?

power law?
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log-log plots for 
various parameters

for

               a remarkable claim! 
replicates features of the strange metal? how?

G. Horowitz et al., Journal of High Energy Physics, 2012

optical conductivity from a 
gravitational lattice
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gab = ḡab + hab

Aa = Āa + ba
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- high-frequency behavior is identical
- low-frequency RN has
- low-frequency lattice has Drude form 

conductivity
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A1 = 0.75, k1 = 2, k2 = 2, ✓ = 0, µ = 1.4, T/µ = 0.115

Results
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origin of power law?

phenomenology

(p2)dU�d/2

scale-invariant propagators

no well-defined mass

Le↵ =

Z 1

0
L(x,m2)dm2

incoherent stuff (all energies)
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multi-bands
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